
EXIS
TING

FOOTING 
2200 X 2200 X 800mm deep

FOOTING 
2200 X 2500 X 800mm deep

FOOTING 
1800 X 1800 X 800mm deep

FOOTING 
1800 X 1800 X 800mm deep

CROSSED BOX
INDICATES SLAB
UNDER
CONTAINERS

Hatched area indicates new slab

Ve
rt

ic
a

l h
a

tc
h 

in
d

ic
a

te
s 

d
ec

k 
m

od
ul

es

Th
ic

ke
ni

ng
 a

t 
ed

ge
 4

0
0

 w
id

e 
a

nd
 4

0
0

 d
ee

p.
 F

8
 T

re
nc

h 
M

es
h 

re
in

fo
rc

in
g

Th
ic

ke
ni

ng
.

Th
ic

ke
ni

ng

Thickening.

Limestone block mass retaining wall. made
form reconstituted Limestone blocks
1000mm X 400mm X 400mm stepped out
one block width (400mm) for every 800mm
rise in height.

2
0

0
 Z

 1
.9

 (
ty

pi
ca

l)
2

0
0

 Z
 1

.9
 (

ty
pi

ca
l)

100 X 100mm X 9mm S.H.S.

100 X 100mm X 9mm S.H.S.

3
10

 x
 1

4
9

 x
 3

2
kg

 U
.B

.

3
10

 x
 1

4
9

 x
 3

2
kg

 U
.B

.

3
10

 x
 1

4
9

 x
 3

2
kg

 U
.B

.

3
10

 x
 1

4
9

 x
 3

2
kg

 U
.B

.

150 x 75 X 18kg U.B.

150 x 75 X 18kg U.B.

150 x 75 X 18kg U.B.

150 x 75 X 18kg U.B.

150 x 75 X 18kg U.B.

150 x 75 X 18kg U.B.

250 x 250 X 89kg U.C. Posts
bolted onto footings via 450
X 400 X 20mm plate welded
to post and anchored with 3
off M30 "U" bolts each
corner as shown. See sketch
at side.

250 x 250 X 89kg U.C. Posts
bolted onto footings via 450
X 400 X 20mm plate welded
to post and anchored with 3
off M30 "U" bolts each
corner as shown. See sketch
at side.

150 X 150 X 24kg U.C.
Column connected to to footing with
M16 with 2 off M16 "U" bolts and via
a welded plate to beam over with 4
M16 bolts.

150 X 150 X 24kg U.C.
Column connected to to footing with
M16 with 2 off M16 "U" bolts and via
a welded plate to beam over with 4
M16 bolts.

250 x 250 X 89kg U.C. Posts
bolted onto footings via 450
X 400 X 20mm plate welded
to post and anchored with 3
off M30 "U" bolts each
corner as shown. See sketch
at side.

2
5

0
 X

 1
5

0
m

m
 X

 3
1.

4
 k

g 
U

.B
.

2
5

0
 X

 1
5

0
m

m
 X

 3
1.

4
 k

g 
U

.B
.

2
5

0
 X

 1
5

0
m

m
 X

 3
1.

4
 k

g 
U

.B
.

2
5

0
 X

 1
5

0
m

m
 X

 3
1.

4
 k

g 
U

.B
.

Connect single span U.B.
rafters to column on north
west side and two end columns
on North East side via 600mm
deep X 400mm wide X 18mm
plates, one welded to end of
rafter and the other to the
side of the column and bolted
together with 8, M20 bolts.
The same details applies at
ridge line where similar plates
are welded to each end of
rafter and bolted with 8, M16
bolts . See detail for rafter for
similar rafter connection to
lintel, 2 places over doors and
columns to balcony.

250 X 250 x 89kg U.C. columns 250 X 250 x 89kg U.C. columns 250 X 250 x 89kg U.C. columns 250 X 250 x 89kg U.C. columns

250 X 250 x 89kg U.C. columns

250 X 250 x 89kg U.C. columns

150mm X 70mm U.B.150mm X 70mm U.B. 150mm X 70mm U.B.

250mm X 150mm U.B. 250mm X 150mm U.B. 250mm X 150mm U.B.

20mm stem X 200mm Table "Tee" Lintel --- 12mm plate 20mm stem X 200mm Table "Tee" Lintel --- 12mm plate

150 U.B. 18 bracing as shown, welded
into position in 2 places as shown.

Slab is concrete 150mm thick generally with
8mm diameter welded mesh reinforcing steel
100mm X 150mm fabric with 70mm top cover. 

Slab is under containers is 200mm thick
generally with 8mm diameter welded mesh
reinforcing steel 100mm X 150mm fabric with
70mm top cover. the slab is thickened around
the perimeter to 400mm thick with 400mm
base.

150 U.B.18

150 U.B.18

150 U.B.18

3
10

 U
.B

. 3
2

3
10

 U
.B

. 3
2

3
10

 U
.B

. 3
2

3
10

 U
.B

. 3
2

150 R.S.C.

150 R.S.C.

Timber plate to pick
up two end rafters

200 Z 1.9 Purlins
(Typical)

100 Z 1.9 purlins
(typical)

3
10

 U
.B

. 3
2

3
10

 U
.B

. 3
2

3
10

 U
.B

. 3
2

150 U.B. 18

150 U.B. 18

150 U.B. 18

150 U.B. 18

150 U.B. 18

Cranked 150 U.B. 18150 U.B. 18

Cranked 150 U.B. 18

Cranked 150 U.B. 18

Cranked 150 U.B. 18

Cranked 150 U.B. 18

Cranked 150 U.B. 18

150 U.B. 18

310 U.B. 32

Connect rafters to ridge beam via
180mm X 130mm wide x 10mm plate
welded to ridge and connected with 2
M16 bolts each side. (6 places)

Cranked beam dyna bolted to wall
via 180mm X 130mm X 10mm
plate. 2 M16 bolts each side.

Cranked 150 U.B. 18

RAFTER DETAIL

Approximately 400mm diameter
jarrah timber posts salvaged from
the Bussellton jetty (Typical as
shown) 
Mount post on a base 10mm base
plate 300 X 300mm square with a
250 high stem  plate across the 
base plate and  slotted into timber
post. Anchor base plate to floor
with 4 off M12 dyna bolts and
connect post to plate with 2 M16
bolts through post and drilled stem
plate.

10
0

 X 10
0

m
m

 X 10
m

m
 A

ngle Iron d
yna

 bolted
 to w

a
ll ba

se every 6
0

0
m

m
 M

12
 bolts

Led
ge to a

ccept floor m
od

ules

150 x 150mm U.B. 18
standing posts cast into
concrete footing 4 places.

15
0

 x 15
0

m
m

 U
.B

. 18
 bea

m
 w

eld
ed

 to top of posts to form
 fra

m
e for floor m

od
ules.

150 Z 1.9 purlins 
(typical)

100 Z 1.9 purlins 
(typical)

310 U.B. 32310 U.B. 32 310 U.B. 32 310 U.B. 32

15
0

 U
.B

. 18
15

0
 U

.B
. 18

15
0

 U
.B

. 18
15

0
 U

.B
. 18

15
0

 U
.B

. 18
15

0
 U

.B
. 18

15
0

 U
.B

. 18
15

0
 U

.B
. 18

15
0

 U
.B

. 18
15

0
 U

.B
. 18

Connect rafters to main beam
via 180mm X 130mm wide x
10mm plate welded to main
beam and connected with 2
M16 bolts each side. (5 places)

310 U.B. 32 on flat to
support spandrel end
which in turn support
skillion roof.

15
0

 U
.B

. 18

150 U.B. 18

150 U.B. 18

150 U.B. 18

Thickening at edge 400
wide and 400 deep. F8
Trench Mesh reinforcing

Thickening at edge 400
wide and 400 deep. F8
Trench Mesh reinforcing

NOTE:NOTE: Window width & heights (& door widths) in schedules and in
plan dimensions represents actual width of the window (& door
width) itself. Window height in elevation dimensions (& door height
in schedule & elevation dimensions) represents opening height to
brick courses or u/s studwork. The height of the actual door is

standard 2040 unless otherwise noted. Visual indicators on glazingVisual indicators on glazing
Where there is no chair rail, handrail or transom, all frameless or fully glazed doors, sidelights,
including any glazing capable of being mistaken for a doorway or opening, shall be clearly
marked for their full width with a solid and non-transparent contrasting line. The contrasting
line shall be not less than 75 mm wide and shall extend across the full width of the glazing
panel. The lower edge of the contrasting line shall be located between 900 mm and 1000 mm
above the plane of the finished floor level.
Any contrasting line on the glazing shall provide a minimum of 30% luminance contrast when
viewed against the floor surface or surfaces within 2 m of the glazing on the opposite side.

NOTE:NOTE:  Doors within a path of travel to an exit to be openable without a key from the side that faces

the person seeking egress, by a single-handed downward action handle located 900mm to 1200mm

above the floor. (if applicable).

Doors labelled D1 in 3 places and new front door D4 form external escape doors with handles describe

above. The builder will provide an illuminated exit sign over each of them them 4 places.

N

100mm X 100mm X 6mm
S.H.S. brackets welded to
lintel

SECTION VIEW

PLAN VIEW

Purlins not shown
on plan view.

400mm diameter
timber post (typical)

150 U.B.18 bracing welded into place

200 x 200 Tee Lintel
coach bolted into top
of timber posts

Box gutter
(red) sitting
on brackets

15
0

 U
.B

.1
8

 r
a

ft
er

600 x 400mm x 20mm
plate one welded to
bracket as shown and
the othe welded to end
of rafter. Bolt together
with 8 of M20 bolts

250 x 150mm U.B.

150 U.B.18 rafter

250 x 150mm U.B.200 x 200 Tee Lintel coach
bolted into top of timber posts

2
5

0
 X 2

5
0

 x 8
9

kg U
.C

. colum
ns

250 X 150mm X 31.4 kg U.B. 250 X 150mm X 31.4 kg U.B.

2
5

0
 X 2

5
0

 x 8
9

kg U
.C

. colum
ns

600 X 400mm x 18mm plate with 8
off M20 bolts to each connection.200 Zed 19 (typical)

450 X 400mm x 18mm plate with
3 off M30 "U" bolts with 600mm
cover to each connection.

Connect single span U.B. rafters to column on north west side
and two end columns on North East side via 600mm deep X
400mm wide X 18mm plates, one welded to end of rafter and
the other to the side of the column and bolted together with 8,
M20 bolts. The same details applies at ridge line where similar
plates are welded to each end of rafter and bolted with 8, M16
bolts . See detail for rafter for similar rafter connection to
lintel, 2 places over doors and columns to balcony.

250 x 250 X 89kg U.C. Posts
bolted onto footings via 450 X 400 X
20mm plate welded to post and
anchored with 3 off M30 "U" bolts each
corner as shown. See sketch at side.

150 x 70 UB. ridge connected to rafters via a
230mm X 150mm x 10 plate and 3 off M 16 bolts.

2200mm x 2200mm x 2200mm
deep concrete footing in back left
hand corner of balcony

1800m x 1800mm x 800mm deep
concrete footing in front left hand
corner of balcony.
Right hand balcony roof footings are
as shown on plan.

100mm x100mm x4mm S.H.S. steel section up to ridge at each
end founded on steel frame that forms the decking support.

Michael (Mike) CooteBE | Engineering Manager | Timeloc Pty Ltd trading as Just SIPS 
MIE Aust – Membership No. 212804
1964 Albany Highway, Maddington WA 6109
[Postal: C/- Add Group, PO Box 125, Maddington WA 6989]
?+ 61 (0)8 6555 2990 / (0)8 9399 8781|? + 61 8 9399 8786 |? mcootehome@iinet.net.au |? +61 (0)418 949 900
Website --- www.justsips.com

 Engineers declaration,

Letizia Building Company
Joe Letizia --- Builder Registration Number 6529
2/7. Leeway Crescent, Osborne Park, WA 6017.
Phone: (08) 9244 3830
Mobile: 0418 929 805
Email: letsbuild@bigpond.net.au

BUILDER
ROOF & COLUMN
LAYOUT

SLABS, FOOTINGS,
RETAINING WALLS
& DECK FLOOR
LAYOUT

Scale 1 : 100

AS CONSTRUCTED 
ENGINEERING

BOX GUTTER DETAIL OVER BALCONY
Scale 1 : 50

This is to certify that I have been on site with the builder and checked the work that the work done has been
completed satisfactorily in a workmanlike manner and that this drawing reflects accurately the materials
used and methods of construction. I certify that the engineering completed on site is in line with best
practice and that the building is structurally sound.

Signed 

                                      Michael Coote ---- M.i.E. Aust Membership No. 212804

Sketch details shown provided by:
Ahmet Atak
ATAK   CONSTRUCTION
Mob:0423333344
PO BOX 1116 CANNINGTON 6987 W.A
Email: ahmet@myaconstruction.com.au
ABN: 42 914 477 513

Annexure 1

Scale 1 : 100

BALCONY ROOF ENGINEERING DETAILS
Scale 1 : 75

Scale 1 : 100

REVISED PLAN SHOWING 
REVISED SEWERAGE SYSTEM
November 2018

Member
BDAWA

Dwg No.SCALE
DRAWN
DATE

Email :  dennshep@bigpond.net.auPh/Fax :   9367 3918

27 Salisbury Avenue, South Perth WA 6151.
IInnccoorrppoorraattiinngg  CCeelleessttiiaall  PPhhoottooggrraapphhiiccss

SHEPPARD
DDEESSIIGGNN  &&  DDRRAAFFTTIINNGG  SSEERRVVIICCEESS

As noted.
D.S.
June 2016

PROPOSED EXTN's & ALTN's TO
CHALET RIGI FOR SAFERIGHT
INTERNATIONAL.

No. 415,
MUNDARING WEIR ROAD,
PIESSE BROOK.

CDC No. 201501706 issued by Quintin Kleyn, Hendry Group on 27/10/2015.

Extensions & Alterations --- Reissued Building License No. 2015/1189
dated 2/12/2015 by Kalamunda Council. 

Outbuilding Kiosk and Toilets --- Reissued Building License No. 2015/1195
dated 3/3/2016 by Kalamunda Council

Updated Construction Drawings for
CHALET RIGI

REVISED PLAN SHOWING  REVISED
WASTE WATER TREATMENT AND
EFFLUENT SYSTEM MAY 14th 2019

Special Council Meeting 19 May 2020 Attachments Attachment 8.1.1.19

City of Kalamunda 419


